Algebra Rectangles (A)

Name: Date: Score:
Determine the Value of x, Length, Width and Area for each rectangle.
= 419
-9 Perimeter: yd
o Value of x: yd
4 Length: yd
+ Width: yd
mT Area: yd?
—9x —1 Perimeter: %n
n Value of x: in
: Length: in
= Width: in
‘N Area: in?
7x + 13
Perimeter: km
© Value of x: km
+ Length: km
(>\]< Width: km
Area: km
2x +12
Perimeter: ft
o Value of x: ft
: Length: ft
“] 7 Width: ft
! Area: ft?
Perimeter: pmm
- 3x =50 Value of x: um
+ Length: um
2|9 Width: Mm
Area: pMm
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Algebra Rectangles (A) Answers

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
Z +19
-9
(@)}
o
—
+
=
o
|
—-9x -1
o
—
+
x
(V)
7x + 13
\O
+
~
o
2x + 12
(@]
(@\|
+
=] 9
3x — 50

43

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

yd
yd
yd
yd

yd?

in
in
in
in
in

km
km
km
km
km

ft
ft
ft
ft
ft?

um
um
um
um
um
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Algebra Rectangles (B)

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
—-2x—9
(Vo)
o
+
=
o
—3x + 59
—
—
+
=] 9
5x + 134
[Ve)
+
=] F
2x + 51
(@)
+
=T
4x + 19
#
+
=
q

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

in
in
in
in
in

km
km
km
km
km

ft
ft
ft
ft
ft?

um
um
um
um
um
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Algebra Rectangles (B) Answers

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
—-2x—9
(Vo)
o
+
=
o
—3x + 59
—
—
+
=] 9
5x + 134
[Ve)
+
=] F
2x + 51
(@)
+
=T
4x + 19
#
+
=
q

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

in
in
in
in
in

km
km
km
km
km

ft
ft
ft
ft
ft?

um
um
um
um
um
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Algebra Rectangles (C)

Name:

Date: Score:

Determine the Value of x, Length, Width and Area for each rectangle.

= +17
—6
Perimeter: km
Value of x: km
X Length: km
+ Width: km
§ Area: km
—4x — 206
Perimeter: nm
< Value of x: nm
+ Length: nm
<5 Width: nm
Area: nm
—4x — 18
Perimeter: in
g Value of x: in
I Length: in
= Width: in
wn
I Area: in?
-1
-4
Perimeter: yd
— Value of x: yd
= Length: yd
+ Width: yd
. 2
= Area: yd
6x —1 Perimeter: ft
Value of x: ft
o)
| Length: ft
é Width: ft
Area: ft2
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Algebra Rectangles (C) Answers

Name:

Date:

Determine the Value of x, Length, Width and Area for each rectangle.

X +17
-6
o0
#
+
><
@\l
—4x — 206
#
+
2|7
—4x — 18
\O
(@\l
|
~
(V)
|
-1
-4
—
>~
—
+
a3
>~
6x—1
O
|
~
o0

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

km
km
km
km
km

nm
nm
nm
nm
nm

in
in
in
in
in

yd

yd
yd
yd?

ft
ft
ft
ft
ft?
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Algebra Rectangles (D)

Name: Date: Score:

Determine the Value of x, Length, Width and Area for each rectangle.

Perimeter: ft
9x + 79
= > Value of x: ft
>|< Length: ft
Clh Width: ft
Area: ft2
—9x — 54
Perimeter: mm
Value of x: mm
[_T_ Length: mm
2l < Width: mm
Area: mm
—9x + 38
Perimeter: in
Value of x: in
‘_‘ .
| Length: in
g Width: in
Area: in?
L) Perimeter: m%
% 8 Value of x: mi
— Length: mi
>'< Width: mi
en Area: mi?
2x + 101
Perimeter: km
Value of x: km
N
N Length: km
+ Width: km
R~
Area: km?
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Algebra Rectangles (D) Answers

Name: Date:

Determine the Value of x, Length, Width and Area for each rectangle.

— 9x + 79
>~
|
=
(@)
|
—9x — 54
>~
+
Rl <
—9x + 38
—
|
=
0
42
o~ 8
O
—
|
=
o
2x + 101
(@]
@\l

=+

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

ft
ft
ft
ft
ft?

in
in
in
in
in

km
km
km
km
km

Math-Drills.com




Algebra Rectangles (E)

Name: Date: Score:

Determine the Value of x, Length, Width and Area for each rectangle.

4x — 15 Perimeter: m
Value of x: m
T Length: m
N Width: m
Area: m?
7x + 46
Perimeter: cm
" Value of x: cm
:’_ Length: cm
P Width: cm
© Area: cm
- Perimeter: yd
1N 2x—4 Value of x: yd
: Length: yd
\? Width: yd
Area: yd?
—9x — 124
Perimeter: ft
Value of x: ft
<t
— Length: ft
+ Width: fi
IR 5
Area: ft
=42
4
Perimeter: um
o Value of x: um
P Length: um
[ Width: um
3 Area: um
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Algebra Rectangles (E) Answers

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
4x — 15
—
|
=Rl
7x + 46
V)
o
+
=
O
\n 2x —4
+
=
\O
|
—9x — 124
<t
—
+
=2l
42
4
(@)
—
(@\|
|
=
o0

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

BB BEB

[\S]

cm
cm
cm
cm
cm

yd
yd
yd
yd?

ft
ft
ft
ft
ft?

pum
um
um
um
pum
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Algebra Rectangles (F)

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
2x —2
o0
+
=] 9
3x — 67
<+
—
+
=] T
2x — 32
(@\|
—
+
=T
—9x — 31
—
|
=
(@\]
|
7x + 46
(V)
(@\|
|
=
T

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

km
km
km
km
km

nm
nm
nm
nm
nm

ft
ft
ft
ft
ft?

cm
cm
cm
cm
cm
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Algebra Rectangles (F) Answers

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
2x —2
o0
+
=] 9
3x — 67
<+
—
+
=] T
2x — 32
(@\|
—
+
=T
—9x — 31
—
|
=
(@\]
|
7x + 46
(V)
(@\|
|
=
T

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

km
km
km
km
km

nm
nm
nm
nm
nm

ft
ft
ft
ft
ft?

cm
cm
cm
cm
cm
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Algebra Rectangles (G)

Name: Date: Score:

Determine the Value of x, Length, Width and Area for each rectangle.

9x + 185
Perimeter: nm
Value of x: nm
:'i Length: nm
2l < Width: nm
Area: nm
—4x — 98
Perimeter: yd
~ Value of x: yd
— Length: yd
+ Width: yd
Rl
Area: yd?
2Xx
Perimeter: ft
LQ Value of x: ft
+ Length: ft
§ Width: ft
I Area: ft2
—6x—1 Perimeter: m
— Value of x: m
: Length: m
= Width: m
o Area: m?2
—9x — 313
Perimeter: in
Value of x: in
T_ Length: in
21 o Width: in
Area: in?
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Algebra Rectangles (G) Answers

Name: Date: Score:

Determine the Value of x, Length, Width and Area for each rectangle.

9x + 185
Perimeter: nm
Value of x: nm
:'i Length: nm
2l < Width: nm
Area: nm
—4x — 98
Perimeter: yd
~ Value of x: yd
— Length: yd
+ Width: yd
Rl
Area: yd?
2Xx
Perimeter: ft
LQ Value of x: ft
+ Length: ft
§ Width: ft
I Area: ft2
—6x—1 Perimeter: m
— Value of x: m
: Length: m
= Width: m
o Area: m?2
—9x — 313
Perimeter: in
Value of x: in
T_ Length: in
21 o Width: in
Area: in?
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Algebra Rectangles (H)

Name: Date:

Score:

Determine the Value of x, Length, Width and Area for each rectangle.

9x + 199
Ne)
—
+
Rl wn
5x + 164
o
|
i
—4x —7
[Vp)
+
2l e
—5x —27
Ne)
N
|
x
#
[
~ —9x —3
+
=
on

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

8B 88 B

=]

nm
nm
nm
nm
nm

yd
yd
yd
yd?

km
km
km
km
km
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Algebra Rectangles (H) Answers

Score:

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
9x + 199
O
—
+
Rl wn
5x + 164
on
|
=] 7
—4x —7
V)
+
Rl
—5x — 27
\O
(@\|
|
><
#
|
~ —9x —3
+
=
on

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

8B 88 B

=]

nm
nm
nm
nm
nm

yd
yd
yd
yd?

km
km
km
km
km
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Algebra Rectangles (I)

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
o 8x + 2
+
=
o0
|

6x — 310
(V)
|
=1l
Z +13
—4
\O
o
|
~
o
|
= +23
-2
(@)}
o
|
=
o
7x + 55
(@]
—
|
=
T

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

um
um
um
um
um

yd
yd
yd
yd

B8 8BEB

[ S}
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Algebra Rectangles (I) Answers

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
o 8x + 2
+
=
o0
|

6x — 310
(V)
|
=1l
Z +13
—4
\O
o
|
~
o
|
= +23
-2
(@)}
o
|
=
o
7x + 55
(@]
—
|
=
T

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

um
um
um
um
um

yd
yd
yd
yd

B8 8BEB

[ S}
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Algebra Rectangles (J)

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
X
o = +17
—
+
~
(@)}
|
_ —5x + 378
—
+
| F
—9x — 142
w
—
+
=] 9
4x + 30
\O
on
+
=
(@)}
4x —9
on
o
+
o
T

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

cm
cm
cm
cm
cm

km
km
km
km
km

BB BEB

[ S}

yd
yd
yd
yd
yd?
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Algebra Rectangles (J) Answers

Determine the Value of x, Length, Width and Area for each rectangle.

Name: Date:
X
o = +17
—
+
~
(@)}
|
_ —5x + 378
—
+
| F
—9x — 142
w
—
+
=] 9
4x + 30
\O
on
+
=
(@)}
4x —9
on
o
+
o
T

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:

Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

Perimeter:
Value of x:

Length:
Width:
Area:

cm
cm
cm
cm
cm

km
km
km
km
km

58888

yd
yd

yd
yd?
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